ORIGINAL

#### AMENDMENT TO AGREEMENT

This Amendment of the Agreement, entered into this 4th day of April, 2017, by and between the CITY OF ALAMEDA, a municipal corporation (hereinafter "City") and RAY'S ELECTRIC, a California corporation whose address is 411 PENDLETON WAY, SUITE B, OAKLAND, CALIFORNIA 94621, hereinafter called the Contractor, in reference to the following:

#### **RECITALS:**

- A. On May 17, 2016, an agreement was entered into by and between City and Contractor (hereinafter "Agreement").
- B. City and Contractor desire to modify the Agreement to provide unforeseen additional work to complete project and to add additional compensation on the terms and conditions set forth herein.

NOW, THEREFORE, it is mutually agreed by and between the undersigned parties as follows:

1. Paragraph 3, COMPENSATION TO CONTRACTOR, Paragraph 1 and 4 of the Agreement is modified to read as follows:

"Contractor shall be compensated for services performed pursuant to this First Amendment to Agreement in the amount and manner set forth in Contractor's quote, which is attached hereto as Exhibit "A1" and incorporated herein by this reference. Payment will be made in the same manner that claims of a like character are paid by the City, with checks drawn on the treasury of said City, to be taken from the 91029 fund. "

"Total compensation under this First Amendment to Agreement shall not exceed 22,000. For a contract total of \$458,441."

2. Except as expressly modified herein, all other terms and covenants set forth in the Agreement shall remain the same and shall be in full force and effect.

Signatures on following page



### 1.3

the company of the co

a mara alia 1931 (1971 and 1971 and 19 Page 1 and 1971 an

n and the second of the second

s de los fil promiso<sub>n</sub> si mant ental l'introduction de la company de l

n de la finale de la finale de la companya del companya del companya de la compan

7 1111 2 2

IN WITNESS WHEREOF, the parties have caused the Agreement to be executed on the day and year first above written.

RAY'S ELECTRIC A California Corporation	CITY OF ALAMEDA A Municipal Corporation	
Greg Gruendl President	Jill Keimach City Manager	
Carlos Franco Secretary	RECOMMENDED FOR APPROVAL  Liam Garland Interim Public Works Director	
	APPROVED AS TO FORM: City Attorney	
	Andrico Penick Assistant City Attorney	

<u>\$22,000.00</u>

# Scope of Work

## Park Street/Buena Vista Avenue

Total Scope of Work

Tark bucco buona vista rivenue			
Description	Quantity	Unit Price	Total
1. Sawcut	127.5	\$5.00	\$637.50
2. Adjust Frames/Covers			
Boxes to grade	1	\$500.00	\$500.00
3. City Standard PCC Sidewalk	324	\$15.00	\$4,860.00
4. Hot Mix Asphalt	2.05	\$250.00	\$512.50
5. Thermoplastic 12" Wide			
Crosswalk Striping	355	\$5.50	\$1,952.50
Park Street/Lincoln Avenue/Tilden V	Vay Quantity	Unit Price	Total
•	<b>(</b>		
6. Adjust Frames/Covers	E	<b>4.50.00</b>	<b>\$2.250.00</b>
Boxes to grade	5	\$450.00	\$2,250.00
7. City Standard PCC Sidewalk	559	\$15.00	\$8,385.00
8. PCC Curb and Gutter	12	\$45.00	\$540.00
9. Hot Mix Asphalt	.67	\$250.00	\$168.00
10.Thermoplastic 12" Wide			
Crosswalk Striping	399	\$5.50	\$2,194.50